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1 Reflect the shape in the mirror line.
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Complete the sequence.
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Reflect the
shape in the
mirror line

model by counting squares from the miror line for each vertex



We are going to
reflect the triangle
in the horizontal
mirror line
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Explain the error in each

reflection.
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2 What has happened here?
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Reflect shape
B in the line
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y Have a think m
(3,9)

The triangle is reflected in the y-axis.
What will be the coordinate of the vertex p?



When you reflect a

shape, its dimensions
©9 change.

Dora

Do you agree with Dora?
Explain your thinking.
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The rectangle is pink and green.

The rectangle is reflected in the mirror
line.

What would its reflection look like?



Rectangle ABCD is the result of a Annie has reflected the shape in the

rectangle being reflected in either the x- y-axis.
or the y-axis. Is her drawing correct?
Where could the original rectangle have If not explain why.

been? Draw the possible original
rectangles on the coordinate grid, and
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The object on the left has been reflected in the vertical The shape in position A has been reflected in the x-axis

mirror line to give the image on the right. and then the y-axis fo result in position C.
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